DOTADES INCIAI
00 40 2016

FESUID 20 LAND PLIRTANAL DE IWESTIVENTCS

ERTIDADE
WINICIPID DE VINRAIS

=3 = s = =2 = T NS =E = === == = s = oS asSsSsNas s
= - — oo =t = o3 = T o0 o0 Lo Lo Lo o = S S o5 o5 o5 =+ P = — = 8 S S S oS = oS e LS LS = o5 = —
- = === = 3 T eSS SeNg S EEEE=E=EsE= Ss2= == 2SS EEeSsssSEaSSsSassSs
= = SN=E= = sSiEssagssSaesasensssss == === = = B =S = _EsEssaEassSa=sss
= = — = o = = i S P P g quput S S S = S = = = o5 2 oS S = i = o o o e —f o oo
= —_ = =SS = == S oS sEsE s s E s sTS=S = =sB== =S8 =5 = SoaomsTassSsS=sEsssss
= = == S =R = = = = = = DESsEsEsSsSsSsS=Ss SIS V=3 = sSExFIE=E=s=2
= 0 = = = — S s —i - = = = — 3 — = = — - = S5 s oS
= = = = = =
= = = = = = e e e e e e e e e s s = = = = =
= =sss =ss ssesssessesssssssss=s = =ss
S - = = = = = S S sS S0 0SosS s s s s s s s s = =3 PP
- = =ss == === - === =3 — =
= = =S =S = sSsessssssSssSssSssssss = P = =
— = = = = == o= S S S SN SN SsSSsSsSssassSsSsSsSs = s = =
= = = = =2 == = = = X = = ==
= = = = = = e e e e e e e e e s s = = = = = = = = = =
= =sss =ss ssessessessessssssssss = = =ss =ss =ss
S - = = = = = S S sSSsS s s s s s s s s s s = = =3 PP = = = =
= = =ss === === =1 =3 =3 — = =ss =ss
= = =25 =S = sSsessssssSssSssSssssss = = P = = = =
= — —_ = P T G i e G S P e = = = Lo o = = = =
— = === =2 = ScEEEsEEERNENESE s EESsE s = = ] = =2 = ==
= = = = s = = = = == = = = = ==
= = = = = = P —————— - = P —_——
= =sss =ss sSsessssssssssssss sSsss = ss s s ssss
S ¢ = = = = = S S sS S0 0S 0 s s s s s s s s P =S S S S S S S =
= = =ss === === = === ssss =S = oDEeEEsEssss
= = =S =S = =EssssSssssSssssssss =sSsss = =3 _—_—asssss=ss
= = — —_ = = = e = Qe i i P g P G g = = L i S e e = = o
= — = === == S EEEsEENNIEEEERR =S = =s2ss= = = s sosSssSs
= = = == = == = = SE==2s=S === == _ s sS=
— — — — Z S - — P — 3 ~ 3 —
= — —= =
=
=
=
= = = = = = = = = = = P
= =ss =ss = = =ss = sSsss=s
=2 — S = = = S = = = = = =S = =S s s s
= = == =ss =S = = sSs = = sEssss
= = =3 =23 P —— = = SsS= = sSsss s
= = = — =S oo P — = s = P P = g
= = — = = S P = - = = = =3 = = B ss
= = == == == = = =3 = = == =
= = =
— =
=
—
=
=
= = = = = pr— e e e e e e e e e s s = = - = = = e ————— =
o = =sss =ss sessessessesssssssss=s sSsss =ss = sssssssssss =
= S = = = = = [N g g e e g e g e g S S =S = =S s S = S S S s s S e e = =
= - = =ss =S = _EEesessesesssssssssss=s sSsss sSs2s sSsSssSSsSsSss=ss =
= — = = === = sSsEsssSssSssSsssssssss=3 sS=s = =SS sSsSsSsSsS=a=SsS8888 =
= = = = = 88 =3 =2 = ~ = = SR o aEssaSsS = g v e s SsSeSSraeomssss =
= = = = = = = s = = = = === = =3 === == HEFT==2=
==5 = = = =3 =
=
=
= = = = = = P ———— - = = = e e e e s e = = = =
= = =sss =ss sSsessssssssssssss sSsss =ss = sSsesssssssss =
= S - = = = = = SsSosSs s s s s s s s s s s P =S s S = S S S s s S e e = =
= = =ss === m_Esessesesssssssssss=s ssss sSs2s sSsSsssSsSsSsSss=ss =3
= = =S =S = sSFEeEssssSssSsasssssssss= sS=ss sSsSsas sSsSsSsSsS=a=SsS888s =
— — = = B =3 =2 = —_ == DRSO SsSsSsaSsS=Ss gy e = SgTE=SsS sSESsSRsSsSasSss =
= = = = = = == s 2= = === = = RS S = sSEEEesasSs=s
= ; — — 5= = — 3 — ] — —
E — — =
=
== o
= o
= =
= =
==
=
= oo
= = =
=
=
=
=
= = = = = = = = o o = s s = = = = = — = — = = = —= = = e S = = = = = e — =
= = = s = =2 = TN eEsEE=E = === = = s = s ss s = =
= = = oo — o= — = T o0 o0 Lo Lo Lo o 1 S S o5 o5 o5 =t P = — = 8 S oS S oS = oS ot oS oS — o5 — Py
SN —_= =2 == = = T eSS SeSNg S EEEE=E=EsE= =SS == s E2EsssSsoIxx==E = =
= = = === =2 = STEsmaOgsSsSasaennssssas = === =S B == _EsSeEsssSssssEsS= = =
. = = =N 8 = = IS EEES [ == = e a= = = =2 s Es = = =
== = e - = = — — — = — = s — — — = < — — — LS LS oS — =
s o . —= :
= = = =
= = = — = o
= = A == = = =
= = oo P = = =
= = s =2 =23 = = = =
= = = S = 5= = = > =
= = == = s — = o 22 e =
= = =3 = = =2 L = = N =5 o = = = = == ==
= = =3 = = = s = = = = = == = = =
= = == == = = o — = = = = = S = =
= — = L s = P = = =3 == = = = = == = =
— = = = == = - == = = =3 = = - = = = = = =
= = = & = = S o = = = = o= =2 — = S = = =
=- =3 S = = o = = =3 = = = =2 = -~ o = == — = = = p—
= s = = = S = s = 0= s = = =2 == s = = = = =
= = = = S =2 = = = =2 =2 = 0= = = = w =2 p— = oo = = = = =
b= & 85 = = = = = 3 = = = = = = = = = = = = = = = =
= > = =3 = = = = 3 = = = — = — = = = = = e = = =S = =
= = p— = = = = = . & = &= = — — =S = = = = = = = = = = —
= = = s = [ES= SN S Yo = = = = 2o === == s = = = == o = PN =
s = =2 === =2 = S LSS = o S 2o = == == —_ = = — = =
= 55 = = oo = = =2 == = o pr— sSExE2o= == H=S .5 S =SS oo P e |
= = S oo 2= - a8ae = == =22 o3 =2 = S = == = =3 p— R ===
= ==2== < = = =2 S ocoE=EEEXRRE oS == = S = S = H == =22 S =2 =
& ES o= o s S S =EEoasassS=2=2om o = === = — S SEE R =R oS =ES =R E =S EE =
BB  S=E2=aE=2030= = BSSSSEEES LSS =EweE s S8BE8 2S5 = = E=E2aas s S =S =
oSS S =EeE=EE S e s = = SE=E2E=E==EEH oSS BS === S WS =22 weE=eEaeae=E=s=
D EEEEEE S SR LB =2 =222 =SS = EoSaooEEeES s s a = == =SS s = S =
= E S E E S R S EsE S eSS e =R E s E S S ESEREE S e e S = R E B EBEEEE =E L2 =2
S Eaa=ECc o == =SS e s s 2R E S = e S E s s EEEEE S =E e
S E S sSE = E S eSS E S E S R E S eSS s o a2 e EEE S =S
EEHE SR E EE e E=E s ES e am am B EE S e SR E s aEsEERE S EE=ESaESS === s R e
=
= — 3 s = — 3 — — — R QR — e s =
= — — — — — — o i e g P R e i P S S = — g — i 3 — 3 — o o —a —
= — — — — — — —_ e = = = = = = = — - = = 3 PP — B P TS i i S . I S
= — N — P R P N N N PN NN IS IS IS ISES ~ e i ~ e oS o D D e e e R e S




=
=
0
==
==
==
=
= =
==
=
=
=
=
=
=
=
=
=
=
=
=
=
s =
= =
= o
e =

OBJECTIVD

= 3 =
= = —i e
— = = = 3
= = = = =5
= = = =
== = =
=
=
=
= =
= =
= =
= = =
=
=
=
— = =
= = =
= = =
= =
= =
= = =
= = =
= = =
= = =
= = =
= = = =
> >
= = =
=
=
=
= = =
= = = =
£ = = =
= = —_ =
£ £ = =
= = = =
= — —
—
=
=
= = = =
= = = =
= 2 2 2
= s, = s,
= = = =
= = = = =
= = = = =
= = H :
£ = =
=
=
= = =
= = = =
= = = =
=3 = =3
= = =
— = = =
= = = =
= 2 3
= — =
—
=
==l
= =
=
==
=
=2
= = =
=
=
=
=
F = = =
2 2 3
s e = = =
= = £ =
= = ] =
. S = = =
— o = = =
== — = —-
= = =i =
= =
= ==
= =
= =
= =
= =
= =
= p—
=
= =
= =
£ =
= =
=
-
=
=
=™ ]
=
=




